TotalMarks:.... Class:10th Time:....

Test:Physics
Attempt ......... questions
Th f tic field can be detected - ¢ Wi (G
1 by:e presense of magnetic field can be detecte -LU:laL@,KJi/JAr’V@? 1
(a) small mass (b) stationary positive charge  (a) cu’l.L. £ (bbb ,,JJ/ [
(c) stationary negative charge
(d) Magnetic compass (c) =Lk l”eﬁ U( Ld = J"” -I"C
b
2 The step up transformer: (a) c_t'u: Y sz /u ! -//Wl/.;'-;s" 2

(a)  increase the input current

(b) increase the input voltage (b) <«tlx i 5”&/ ¢

(c)  Has more turns in the primary coil () vt Lf/G sk J l;’/d 5 4 !/d/
(d)  Has less turns in the secondary coil d Uix & y- J, /(5 A A‘?O/

3 The equation of Not operation is: :LLQ,I}VJ‘%&“{ et 3
(a) X=A.B (b) X=A+B (a) X=A.B (b) X=A+B
(©) X=A-B (d) X=A (c) X=A-B (d) X=A

4 Ifx=AB, then x = | when. g 1dxix=AB *
(@) A=1,B=1 (b) A=0,B=I (@ A=1,B=l1 (b) A=0,B=I
() A=0,B=0 (d A=1,B=0 () A=0,B=0 (d A=1,B=0

> Adevice used to transport files one computer to g e ’/"uﬁ/",::{//_ /»L/'}“{ug:’/}’/ﬁﬁ J Iy3 &h.g >
another. - 8!" Ji
(@) Compact (b) laser (@) L3 %C:’/ (b) 27
(c) flashdriver  (d) ‘printer () L3 U%b (d) 4

6 Which of the following issnot a storage device? ?éujuju 5@'/}«6@[; S ®
(a) Hard Diskes,& (b)  Flash Drive (a) L334 (b)  FUSS
(¢) Key Board (d)  Casettes (c) S J (d) J)V[

7 From which of the following you can get . s . » . 7
information almost about every thing? L BT A - e et i
(a) Books (b)  Teacher (a) ST (b) glvg]

(c)  Computer (d) Internet. © 4 y{ (d) o

8 One of the isotopes of uranium. U Find the number A"d/ a el U”u 2T e MU« ¥l T, .ﬁgﬁf: 0 8
of Neutrons in this isotopes is: - b

(@) 92 (b) 146 (a) 92 (b) 146
c) 238 (d) 330 (©) 238 () 330

9 The half life of radium-226 is: -9.50&9&226(:2/ 9
(@) 4000years  (b) 2800 years @  JL4000 ®  JL2800
(c) 1620years  (d) 5730 years ©  Js730 @  J1620

10 The nuclear fission observed by: _U/ A/K Ry /,,g, 10
(a) Strassman (b)  Ein stien (@ U (b) o LJ 7
() Snell (@ Newton © S (@) o
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